4/16/25, 12:19 PM 609wdo 1

300630 1

39 30Lgbaoyi9dgmo
Jmobgao®0dgoymos 899930 Mom©gbmoowob 1.00

300mobogm bodaomo hodol 32 dodoobo 3gmoo k Lobyolo 3608369tmmdnm 2.05

00MABogm ghmo:
() double k=2.05;

() double k=2,05;
O intk=2.05;
(O float k=2.05f;

300b30 2

39 30Lgbaoyiadgmo
300M06306M 0390700 399930 MomEybmdnob 1.00

303moEbogm 32 dohoobo dmgemo hodol dobogo k bobyolbo 3603369emmd0m15,20,40,70,56

00Mhogm g mo:
O intk[]={15,20,40,70,56};

O int [ k={15.20.40.70.56};
O intk={15.20.40.70.56};
O intk={15,20,40,70,56};
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300b30 3

396 30ligbaoyigdgmo
200m0bgoMm0dgdynemoo 89900930 GomEgbmdnwab 1.00

®0 06900 i-b 3608369mMMdO?
int i = (6+2)%(2*3);

00MRB0gm ghmo:
O 1

O 2

O .33

O 1.33

300630 4

39 30Lgbaoyi9dgmo
200M06g0M03907em0d 89300930 GHomEIbmdn©ab 1.00

o 0gbgdo i-b 360d3zbgMmM0o0?
inti=(6"2) % (2*4),

Answer:
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396 30ligbaoyigdgmo
200mM0630M03gd7m0o 899930 MomEIbmonmab 1.00

®obL EodgdoOgL dmEgdPeo 3MHMaMOad?
public class sample {
public static void main (String arg[]) {
intb =10;
intc=++b * 2;
System.out.printin (“c=" + ¢+ “ b=" + b);
}}
00MRB0gm g mo:
O ¢=22b=10
105
c=22 b=11

22 11

O O O
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300b30 6

396 30ligbaoyigdgmo
200mM0630M03gd7m0o 899930 MomEIbmonmab 1.00

Gm3gmo 3mEob Mmoadgbdn(900) o6 30dm0b393L 3mB3omohm®mol BgEEmIoL?

1)
int i=0; if(i){System.out.printin("Hello");}

2)
boolean b=true; boolean b2=true; if(b==b2){System.out.printin("So true");}

3)
int i=1; int j=2; if(i==1]|j==2){System.out.printIn("OK");}

4)
inti=1; int j=2; if(i==1 &| j==2)System.out.printin("OK");

00MR0gm ghmo ob ModEybodg 3oLybo:
01
] 2
0 4
] 3

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=632615&cmid=9411 4/8



4/16/25, 12:19 PM 609wdo 1

300630 7

396 30ligbaoyigdgmo
200m0bgoMm0dgdynemoo 89900930 GomEgbmdnwab 1.00

3mg300 3odmEboEgdymos int Bodol val 33moEo o 33od3L 3G mamodol 8999a0 3Mo:
if(val <4){
System.out.printin( "Test A" );

}

elseif(val <9){
System.out.printin( "Test B" );
}

else System.out.printin( "Test C" );

val 33emoob Mo 3603369mmmdnlomgol ondgdwmgde Test C?

00MRB0gm ghmo:
O val<0

val=0
val > =9

val 0dgmagqoe (0, 4) 3goemgedo

O O O O

val 0dymagdo [4 , 9) dgomgdo
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300b30 8

396 30ligbaoyigdgmo
200m0bgoMm0dgdynemoo 89900930 GomEgbmdnwab 1.00

dm39dymoo 3ol 399930 GMOR96EHO:

609wdo 1

int a =
int b =
int
int

= I
I n

int x =
inty =

boolean
boolean

boolean

boolean

(int) Math.pow(2, 3); // Math.pow(x, y) - 506xbgdl x bsGolbs y-U

a - 1;

(int) Math.pow(2, 4);
m- 1;

(int) Math.pow(2, 1);

X - 1;
bl = a
b2 =m
b3 = x
test =

& b == 9;
& n == 0;
&y::@;
bl || !'b2 || !b3;

System.out.println("Test: " + test);

dgbemgo0L 3993OP ©EO009FEIOO:!

00MRB0gm ghmo:
(O a. false

O b. Test: true

(O c. Test: false

O d. true
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300630 9

396 30ligbaoyigdgmo
200mM0630M03gd7m0o 899930 MomEIbmonmab 1.00

®ob 00943l IMEgTPMO 3D MgModo?

public class TestWhile {
public static void main(String[] args) {

intn=9;

while (-n > 5) {
if (n<7)
break;

System.out.print(" n=" + n);

}

00MRB0gm ghmo:
O a. n=9 n=8 n=7 n=6

O b. n=9n=8
O ¢. n=8n=7
(O d. n=8n=7 n=6
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396 30ligbaoyigdgmo
200mM0630M03gd7m0o 899930 MomEIbmonmab 1.00

oL Eo0g4O3L IME39TPMO 3MMEMHTd?

public class sample {
public static void main (String arg[]) {
for (int k=0; k<5; k++)
if (K% 2 ==
System.out.print (“ k=" + k);
}
}

00MRB0gm ghmo:
O a. k=0k=2k=4

Ob 2
O c. k=2k=4
O d. o00Mybgdl 3ombgol 60dbgool MomEgbmosl dobngdo;
(O e 246
«
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609wdo 1
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